Count Rate [cps]

107

10°

10°

10*

10?

10

Row 1 Tile 1 Pmt 1 Pixel 1 Slot 13 Fiber 0 Asic O Channel 31

hCount 13 00 0 31

Entries 112
Mean 545
Std Dev 32.04
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6

Sigma 72.11+51.24

| |
600

Threshold [DAC]




Count Rate [cps]

107

10°

10°

10*

10?

10

Row 1 Tile 1 Pmt 1 Pixel 2 Slot 13 Fiber 0 Asic 0 Channel 29

hCount 13 00 0 29
Entries 112
Mean 545
Std Dev 32.04
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

| |
600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10?

10

Row 1 Tile 1 Pmt 1 Pixel 3 Slot 13 Fiber 0 Asic 0 Channel 30

hCount 13 00 0 30
Entries 112
Mean 545
Std Dev 32.04
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

| |
600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10?

10

Row 1 Tile 1 Pmt 1 Pixel 4 Slot 13 Fiber 0 Asic 0 Channel 28

hCount 13 00 0 28
Entries 112
Mean 545
Std Dev 32.04
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

| |
600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10?

10

Row 1 Tile 1 Pmt 1 Pixel 5 Slot 13 Fiber 0 Asic O Channel 32

hCount 13 00 0 32
Entries 112
Mean 545
Std Dev 32.04
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

| |
600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10?

10

Row 1 Tile 1 Pmt 1 Pixel 6 Slot 13 Fiber 0 Asic 0 Channel 34

hCount 13 00 0 34
Entries 112
Mean 545
Std Dev 32.04
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

| |
600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10?

10

Row 1 Tile 1 Pmt 1 Pixel 7 Slot 13 Fiber 0 Asic 0 Channel 33

hCount 13 00 0 33
Entries 112
Mean 545
Std Dev 32.04
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

| |
600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10?

10

Row 1 Tile 1 Pmt 1 Pixel 8 Slot 13 Fiber 0 Asic 0 Channel 35

hCount 13 00 0 35
Entries 112
Mean 545
Std Dev 32.04
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

| |
600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10?

10

Row 1 Tile 1 Pmt 1 Pixel 9 Slot 13 Fiber 0 Asic O Channel 27

hCount 13 00 0 27
Entries 112
Mean 545
Std Dev 32.04
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

| |
600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 1 Pixel 10 Slot 13 Fiber 0 Asic 0 Channel 25

hCount 13 00 0 25
- Entries 112
B Mean 545
= Std Dev 32.04
= X2 / ndf 0.5125/ 22
— Prob 1
= Constant 1005 + 6.4
= Mean 511.2+£4.6
- Sigma 72.11+51.24

| | | | | | | | | | | |
200 300 400 500 600

Threshold [DAC]




Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 1 Pixel 11 Slot 13 Fiber 0 Asic 0 Channel 26

hCount 13 00 0 26
- Entries 112
B Mean 545
= Std Dev 32.04
= X2 / ndf 0.5125/ 22
— Prob 1
= Constant 1005 + 6.4
= Mean 511.2+£4.6
- Sigma 72.11+51.24

| | | | | | | | | | | |
200 300 400 500 600

Threshold [DAC]




Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 1 Pixel 12 Slot 13 Fiber 0 Asic 0 Channel 24

hCount 13 00 0 24
— Entries 112
— Mean 545
= Std Dev 32.04
= X2 / ndf 0.5125/ 22
— Prob 1
L Constant 1005 +6.4
= Mean 511.2+£4.6
— Sigma 72.11+51.24

| | | | | | | | | | | |
200 300 400 500 600

Threshold [DAC]




Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 1 Pixel 13 Slot 13 Fiber 0 Asic 0 Channel 36

hCount 13 00 0 36
- Entries 112
B Mean 545
= Std Dev 32.04
= X2 / ndf 0.5125/ 22
— Prob 1
= Constant 1005 + 6.4
= Mean 511.2+£4.6
- Sigma 72.11+51.24

| | | | | | | | | | | |
200 300 400 500 600

Threshold [DAC]




Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 1 Pixel 14 Slot 13 Fiber 0 Asic 0 Channel 38

hCount 13 00 0 38
- Entries 112
B Mean 545
= Std Dev 32.04
= X2 / ndf 0.5125/ 22
— Prob 1
= Constant 1005 + 6.4
= Mean 511.2+£4.6
- Sigma 72.11+51.24

| | | | | | | | | | | |
200 300 400 500 600

Threshold [DAC]




Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 1 Pixel 15 Slot 13 Fiber 0 Asic 0 Channel 37

hCount 13 00 0 37
- Entries 112
B Mean 545
= Std Dev 32.04
= X2 / ndf 0.5125/ 22
— Prob 1
= Constant 1005 + 6.4
= Mean 511.2+£4.6
- Sigma 72.11+51.24

| | | | | | | | | | | |
200 300 400 500 600

Threshold [DAC]




Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 1 Pixel 16 Slot 13 Fiber 0 Asic 0 Channel 39

hCount 13 00 0 39
- Entries 112
B Mean 545
= Std Dev 32.04
= X2 / ndf 0.5125/ 22
— Prob 1
= Constant 1005 + 6.4
= Mean 511.2+£4.6
- Sigma 72.11+51.24

| | | | | | | | | | | |
200 300 400 500 600

Threshold [DAC]




Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 1 Pixel 17 Slot 13 Fiber 0 Asic 0 Channel 23

hCount 13 00 0 23
- Entries 112
B Mean 545
= Std Dev 32.04
= X2 / ndf 0.5125/ 22
— Prob 1
= Constant 1005 + 6.4
= Mean 511.2+£4.6
- Sigma 72.11+51.24

| | | | | | | | | | | |
200 300 400 500 600

Threshold [DAC]




Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 1 Pixel 18 Slot 13 Fiber 0 Asic 0 Channel 21

hCount 13 00 0 21
Entries 112
Mean 545
Std Dev 32.04
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

| |
600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 1 Pixel 19 Slot 13 Fiber 0 Asic 0 Channel 22

hCount 13 00 0 22
— Entries 112
— Mean 545
= Std Dev 32.04
= X2 / ndf 0.5125/ 22
— Prob 1
L Constant 1005 +6.4
= Mean 511.2+£4.6
— Sigma 72.11+51.24

| | | | | | | | | | | |
200 300 400 500 600

Threshold [DAC]




Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 1 Pixel 20 Slot 13 Fiber 0 Asic 0 Channel 20

hCount 13 00 0 20
- Entries 112
B Mean 545
= Std Dev 32.04
= X2 / ndf 0.5125/ 22
— Prob 1
= Constant 1005 + 6.4
= Mean 511.2+£4.6
- Sigma 72.11+51.24

| | | | | | | | | | | |
200 300 400 500 600

Threshold [DAC]




Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 1 Pixel 21 Slot 13 Fiber 0 Asic 0 Channel 40

hCount 13 00 0 40
- Entries 112
B Mean 545
= Std Dev 32.04
= X2 / ndf 0.5125/ 22
— Prob 1
= Constant 1005 + 6.4
= Mean 511.2+£4.6
- Sigma 72.11+51.24

| | | | | | | | | | | |
200 300 400 500 600

Threshold [DAC]




Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 1 Pixel 22 Slot 13 Fiber 0 Asic 0 Channel 42

hCount 13 00 0 42
— Entries 112
— Mean 545
= Std Dev 32.04
= X2 / ndf 0.5125/ 22
— Prob 1
L Constant 1005 +6.4
= Mean 511.2+£4.6
— Sigma 72.11+51.24

| | | | | | | | | | | |
200 300 400 500 600

Threshold [DAC]




Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 1 Pixel 23 Slot 13 Fiber 0 Asic 0 Channel 41

hCount 13 00 0 41
Entries 112
Mean 548.2
Std Dev 33.38
X2/ ndf 669.7 /10
Prob 0
Constant 6229 + 791.6
Mean 657.5+2.9
Sigma 37.75+1.76
P(f/
| | | |
600

Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 1 Pixel 24 Slot 13 Fiber 0 Asic 0 Channel 43

hCount 13 00 0 43
- Entries 112
B Mean 545
= Std Dev 32.04
= X2 / ndf 0.5125/ 22
— Prob 1
= Constant 1005 + 6.4
= Mean 511.2+£4.6
- Sigma 72.11+51.24

| | | | | | | | | | | |
200 300 400 500 600

Threshold [DAC]




Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 1 Pixel 25 Slot 13 Fiber 0 Asic 0 Channel 19

hCount 13 00 0 19
- Entries 112
B Mean 545
= Std Dev 32.04
= X2 / ndf 0.5125/ 22
— Prob 1
= Constant 1005 + 6.4
= Mean 511.2+£4.6
- Sigma 72.11+51.24

| | | | | | | | | | | |
200 300 400 500 600

Threshold [DAC]




Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 1 Pixel 26 Slot 13 Fiber 0 Asic 0 Channel 17

hCount 13 00 0 17
— Entries 112
— Mean 545
= Std Dev 32.04
= X2 / ndf 0.5125/ 22
— Prob 1
L Constant 1005 +6.4
= Mean 511.2+£4.6
— Sigma 72.11+51.24

| | | | | | | | | | | |
200 300 400 500 600

Threshold [DAC]




Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 1 Pixel 27 Slot 13 Fiber 0 Asic 0 Channel 18

hCount 13 00 0 18
- Entries 112
B Mean 545
= Std Dev 32.04
= X2 / ndf 0.5125/ 22
— Prob 1
= Constant 1005 + 6.4
= Mean 511.2+£4.6
- Sigma 72.11+51.24

| | | | | | | | | | | |
200 300 400 500 600

Threshold [DAC]




Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 1 Pixel 28 Slot 13 Fiber 0 Asic 0 Channel 16

hCount 13 00 0 16
- Entries 112
B Mean 545
= Std Dev 32.04
= X2 / ndf 0.5125/ 22
— Prob 1
= Constant 1005 + 6.4
= Mean 511.2+£4.6
- Sigma 72.11+51.24

| | | | | | | | | | | |
200 300 400 500 600

Threshold [DAC]




Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 1 Pixel 29 Slot 13 Fiber 0 Asic 0 Channel 44

hCount 13 00 0 44
— Entries 112
— Mean 545
= Std Dev 32.04
= X2 / ndf 0.5125/ 22
— Prob 1
L Constant 1005 +6.4
= Mean 511.2+£4.6
— Sigma 72.11+51.24

| | | | | | | | | | | |
200 300 400 500 600

Threshold [DAC]




Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 1 Pixel 30 Slot 13 Fiber 0 Asic 0 Channel 46

hCount 13 00 0 46
- Entries 112
B Mean 545
= Std Dev 32.04
= X2 / ndf 0.5125/ 22
— Prob 1
= Constant 1005 + 6.4
= Mean 511.2+£4.6
- Sigma 72.11+51.24

| | | | | | | | | | | |
200 300 400 500 600

Threshold [DAC]




Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 1 Pixel 31 Slot 13 Fiber 0 Asic 0 Channel 45

hCount 13 00 0 45
- Entries 112
B Mean 545
= Std Dev 32.04
= X2 / ndf 0.5125/ 22
— Prob 1
= Constant 1005 + 6.4
= Mean 511.2+£4.6
- Sigma 72.11+51.24

| | | | | | | | | | | |
200 300 400 500 600

Threshold [DAC]




Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 1 Pixel 32 Slot 13 Fiber 0 Asic 0 Channel 47

hCount 13 00 0 47
— Entries 112
— Mean 545
= Std Dev 32.04
= X2 / ndf 0.5125/ 22
— Prob 1
L Constant 1005 +6.4
= Mean 511.2+£4.6
— Sigma 72.11+51.24

| | | | | | | | | | | |
200 300 400 500 600

Threshold [DAC]




Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 1 Pixel 33 Slot 13 Fiber 0 Asic 0 Channel 15

hCount 13 00 0 15
- Entries 112
B Mean 545
= Std Dev 32.04
= X2 / ndf 0.5125/ 22
— Prob 1
= Constant 1005 + 6.4
= Mean 511.2+£4.6
- Sigma 72.11+51.24

| | | | | | | | | | | |
200 300 400 500 600

Threshold [DAC]




Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 1 Pixel 34 Slot 13 Fiber 0 Asic 0 Channel 13

hCount 13 00 0 13
- Entries 112
B Mean 545
= Std Dev 32.04
= X2 / ndf 0.5125/ 22
— Prob 1
= Constant 1005 + 6.4
= Mean 511.2+£4.6
- Sigma 72.11+51.24

| | | | | | | | | | | |
200 300 400 500 600

Threshold [DAC]




Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 1 Pixel 35 Slot 13 Fiber 0 Asic 0 Channel 14

hCount 13 00 0 14
— Entries 112
— Mean 545
= Std Dev 32.04
= X2 / ndf 0.5125/ 22
— Prob 1
L Constant 1005 +6.4
= Mean 511.2+£4.6
— Sigma 72.11+51.24

| | | | | | | | | | | |
200 300 400 500 600

Threshold [DAC]




Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 1 Pixel 36 Slot 13 Fiber 0 Asic 0 Channel 12

hCount 13 00 0 12
— Entries 112
— Mean 545
= Std Dev 32.04
= X2 / ndf 0.5125/ 22
— Prob 1
L Constant 1005 +6.4
= Mean 511.2+£4.6
— Sigma 72.11+51.24

| | | | | | | | | | | |
200 300 400 500 600

Threshold [DAC]




Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 1 Pixel 37 Slot 13 Fiber 0 Asic 0 Channel 48

hCount 13 00 0 48
- Entries 112
B Mean 545
= Std Dev 32.04
= X2 / ndf 0.5125/ 22
— Prob 1
= Constant 1005 + 6.4
= Mean 511.2+£4.6
- Sigma 72.11+51.24

| | | | | | | | | | | |
200 300 400 500 600

Threshold [DAC]




Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 1 Pixel 38 Slot 13 Fiber 0 Asic 0 Channel 50

hCount 13 00 0 50
- Entries 112
B Mean 545
= Std Dev 32.04
= X2 / ndf 0.5125/ 22
— Prob 1
= Constant 1005 + 6.4
= Mean 511.2+£4.6
- Sigma 72.11+51.24

| | | | | | | | | | | |
200 300 400 500 600

Threshold [DAC]




Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 1 Pixel 39 Slot 13 Fiber 0 Asic 0 Channel 49

hCount 13 00 0 49
- Entries 112
B Mean 545
= Std Dev 32.04
= X2 / ndf 0.5125/ 22
— Prob 1
= Constant 1005 + 6.4
= Mean 511.2+£4.6
- Sigma 72.11+51.24

| | | | | | | | | | | |
200 300 400 500 600

Threshold [DAC]




Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 1 Pixel 40 Slot 13 Fiber 0 Asic 0 Channel 51

hCount 13 00 0 51
Entries 112
Mean 545
Std Dev 32.04
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

| |
600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 1 Pixel 41 Slot 13 Fiber 0 Asic 0 Channel 11

hCount 13 00 0 11
Entries 112
Mean 545
Std Dev 32.04
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

| |
600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10?

10

Row 1 Tile 1 Pmt 1 Pixel 42 Slot 13 Fiber 0 Asic 0 Channel 9

hCount 13 00 0 09
Entries 112
Mean 545
Std Dev 32.04
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

| |
600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 1 Pixel 43 Slot 13 Fiber 0 Asic 0 Channel 10

hCount 13 00 0 10
- Entries 112
B Mean 545
= Std Dev 32.04
= X2 / ndf 0.5125/ 22
— Prob 1
= Constant 1005 + 6.4
= Mean 511.2+£4.6
- Sigma 72.11+51.24

| | | | | | | | | | | |
200 300 400 500 600

Threshold [DAC]




Count Rate [cps]

107

10°

10°

10*

10?

10

Row 1 Tile 1 Pmt 1 Pixel 44 Slot 13 Fiber 0 Asic 0 Channel 8

hCount 13 00 0 08
Entries 112
Mean 545
Std Dev 32.04
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

| |
600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 1 Pixel 45 Slot 13 Fiber 0 Asic 0 Channel 52

hCount 13 00 0 52
- Entries 112
B Mean 545
= Std Dev 32.04
= X2 / ndf 0.5125/ 22
— Prob 1
= Constant 1005 + 6.4
= Mean 511.2+£4.6
- Sigma 72.11+51.24

| | | | | | | | | | | |
200 300 400 500 600

Threshold [DAC]




Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 1 Pixel 46 Slot 13 Fiber 0 Asic 0 Channel 54

hCount 13 00 0 54
- Entries 112
B Mean 545
= Std Dev 32.04
= X2 / ndf 0.5125/ 22
— Prob 1
= Constant 1005 + 6.4
= Mean 511.2+£4.6
- Sigma 72.11+51.24

| | | | | | | | | | | |
200 300 400 500 600

Threshold [DAC]




Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 1 Pixel 47 Slot 13 Fiber 0 Asic 0 Channel 53

hCount 13 00 0 53
- Entries 112
B Mean 545
= Std Dev 32.04
= X2 / ndf 0.5125/ 22
— Prob 1
= Constant 1005 + 6.4
= Mean 511.2+£4.6
- Sigma 72.11+51.24

| | | | | | | | | | | |
200 300 400 500 600

Threshold [DAC]




Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 1 Pixel 48 Slot 13 Fiber 0 Asic 0 Channel 55

hCount 13 00 0 55
- Entries 112
B Mean 545
= Std Dev 32.04
= X2 / ndf 0.5125/ 22
— Prob 1
= Constant 1005 + 6.4
= Mean 511.2+£4.6
- Sigma 72.11+51.24

| | | | | | | | | | | |
200 300 400 500 600

Threshold [DAC]




Count Rate [cps]

107

10°

10°

10*

10?

10

Row 1 Tile 1 Pmt 1 Pixel 49 Slot 13 Fiber 0 Asic 0 Channel 7

hCount 13 00 0 07
Entries 112
Mean 545
Std Dev 32.04
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

| |
600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10?

10

Row 1 Tile 1 Pmt 1 Pixel 50 Slot 13 Fiber 0 Asic 0 Channel 5

hCount 13 00 0 05
Entries 112
Mean 545
Std Dev 32.04
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

| |
600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10?

10

Row 1 Tile 1 Pmt 1 Pixel 51 Slot 13 Fiber 0 Asic 0 Channel 6

hCount 13 00 0 06
Entries 112
Mean 545
Std Dev 32.04
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

| |
600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10?

10

Row 1 Tile 1 Pmt 1 Pixel 52 Slot 13 Fiber 0 Asic 0 Channel 4

hCount 13 00 0 04
Entries 112
Mean 545
Std Dev 32.04
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

| |
600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 1 Pixel 53 Slot 13 Fiber 0 Asic 0 Channel 56

hCount 13 00 0 56
- Entries 112
B Mean 545
= Std Dev 32.04
= X2 / ndf 0.5125/ 22
— Prob 1
= Constant 1005 + 6.4
= Mean 511.2+£4.6
- Sigma 72.11+51.24

| | | | | | | | | | | |
200 300 400 500 600

Threshold [DAC]




Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 1 Pixel 54 Slot 13 Fiber 0 Asic 0 Channel 58

hCount 13 00 0 58
- Entries 112
B Mean 545
= Std Dev 32.04
= X2 / ndf 0.5125/ 22
— Prob 1
= Constant 1005 + 6.4
= Mean 511.2+£4.6
- Sigma 72.11+51.24

| | | | | | | | | | | |
200 300 400 500 600

Threshold [DAC]




Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 1 Pixel 55 Slot 13 Fiber 0 Asic 0 Channel 57

hCount 13 00 0 57
Entries 112
Mean 552.3
Std Dev 33.63
X2/ ndf 400/ 22
Prob 0
Constant 2126 £13.2
Mean 591.3+0.2
Sigma 13.63 £0.26

| |
600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 1 Pixel 56 Slot 13 Fiber 0 Asic 0 Channel 59

hCount 13 00 0 59
- Entries 112
B Mean 545
= Std Dev 32.04
= X2 / ndf 0.5125/ 22
— Prob 1
= Constant 1005 + 6.4
= Mean 511.2+£4.6
- Sigma 72.11+51.24

| | | | | | | | | | | |
200 300 400 500 600

Threshold [DAC]




Count Rate [cps]

107

10°

10°

10*

10?

10

Row 1 Tile 1 Pmt 1 Pixel 57 Slot 13 Fiber 0 Asic 0 Channel 3

hCount 13 00 0 03
Entries 112
Mean 545
Std Dev 32.04
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

| |
600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10?

10

Row 1 Tile 1 Pmt 1 Pixel 58 Slot 13 Fiber 0 Asic 0 Channel 1

hCount 13 00 0 01
Entries 112
Mean 545
Std Dev 32.04
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

| |
600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10?

10

Row 1 Tile 1 Pmt 1 Pixel 59 Slot 13 Fiber 0 Asic 0 Channel 2

hCount 13 00 0 02
Entries 112
Mean 545
Std Dev 32.04
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

| |
600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10?

10

Row 1 Tile 1 Pmt 1 Pixel 60 Slot 13 Fiber 0 Asic 0 Channel 0

hCount 13 00 0 00
Entries 112
Mean 545
Std Dev 32.04
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

| |
600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 1 Pixel 61 Slot 13 Fiber 0 Asic 0 Channel 60

hCount 13 00 0 60
- Entries 112
B Mean 545
= Std Dev 32.04
= X2 / ndf 0.5125/ 22
— Prob 1
= Constant 1005 + 6.4
= Mean 511.2+£4.6
- Sigma 72.11+51.24

| | | | | | | | | | | |
200 300 400 500 600

Threshold [DAC]




Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 1 Pixel 62 Slot 13 Fiber 0 Asic 0 Channel 62

hCount 13 00 0 62
- Entries 112
B Mean 545
= Std Dev 32.04
= X2 / ndf 0.5125/ 22
— Prob 1
= Constant 1005 + 6.4
= Mean 511.2+£4.6
- Sigma 72.11+51.24

| | | | | | | | | | | |
200 300 400 500 600

Threshold [DAC]




Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 1 Pixel 63 Slot 13 Fiber 0 Asic O Channel 61

hCount 13 00 0 61
Entries 112
Mean 545
Std Dev 32.04
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

| |
600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 1 Pixel 64 Slot 13 Fiber 0 Asic 0 Channel 63

hCount 13 00 0 63
- Entries 112
B Mean 545
= Std Dev 32.04
= X2 / ndf 0.5125/ 22
— Prob 1
= Constant 1005 + 6.4
= Mean 511.2+£4.6
- Sigma 72.11+51.24

| | | | | | | | | | | |
200 300 400 500 600

Threshold [DAC]




Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 2 Pixel 1 Slot 13 Fiber 0 Asic 1 Channel 31

hCount 13 00 1 31
Entries 112
Mean 5355
Std Dev 26.59
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

| |
500 600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 2 Pixel 2 Slot 13 Fiber 0 Asic 1 Channel 29

hCount 13 00 1 29
Entries 112
Mean 530.9
Std Dev 23.93
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 2 Pixel 3 Slot 13 Fiber 0 Asic 1 Channel 30

hCount 13 00 1 30
Entries 112
Mean 537.2
Std Dev 27.54
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 2 Pixel 4 Slot 13 Fiber 0 Asic 1 Channel 28

hCount 13 00 1 28
Entries 112
Mean 536.1
Std Dev 26.93
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 2 Pixel 5 Slot 13 Fiber 0 Asic 1 Channel 32

hCount 13 00 1 32

Entries
Mean

Std Dev
X2 / ndf

Prob
Constant
Mean

112

529

22.84
0.5125/22
1

1005 +6.4
511.2+46

Sigma 72.11+51.24

s T

500 600

Threshold [DAC]




Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 2 Pixel 6 Slot 13 Fiber 0 Asic 1 Channel 34

hCount 13 00 1 34
Entries 112
Mean 526.2
Std Dev 21.2
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 2 Pixel 7 Slot 13 Fiber 0 Asic 1 Channel 33

hCount 13 00 1 33
Entries 112
Mean 529.9
Std Dev 23.34
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 2 Pixel 8 Slot 13 Fiber 0 Asic 1 Channel 35

hCount 13 00 1 35
Entries 112
Mean 537.5
Std Dev 27.73
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

| |
500 600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 2 Pixel 9 Slot 13 Fiber 0 Asic 1 Channel 27

hCount 13 00 1 27
Entries 112
Mean 5335
Std Dev 25.41
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 2 Pixel 10 Slot 13 Fiber 0 Asic 1 Channel 25

hCount 13 00 1 25

Entries
Mean

Std Dev
X2 / ndf

Prob
Constant
Mean

112

535

26.29
0.5125/22
1

1005 +6.4
511.2+46

Sigma 72.11+51.24

e

500 600

Threshold [DAC]




Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 2 Pixel 11 Slot 13 Fiber 0 Asic 1 Channel 26

hCount 13 00 1 26

Entries
Mean

Std Dev
X2 / ndf

Prob
Constant
Mean

112

536

26.84
0.5125/22
1

1005 +6.4
511.2+46

Sigma 72.11+51.24

600

Threshold [DAC]




Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 2 Pixel 12 Slot 13 Fiber 0 Asic 1 Channel 24

hCount 13 00 1 24
Entries 112
Mean 5355
Std Dev 26.57
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

N

500 600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 2 Pixel 13 Slot 13 Fiber 0 Asic 1 Channel 36

hCount 13 00 1 36

Entries
Mean

Std Dev
X2 / ndf

Prob
Constant
Mean

112

533

25.17
0.5125/22
1

1005 +6.4
511.2+46

Sigma 72.11+51.24

600

Threshold [DAC]




Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 2 Pixel 14 Slot 13 Fiber 0 Asic 1 Channel 38

hCount 13 00 1 38
Entries 112
Mean 531.9
Std Dev 24.48
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 2 Pixel 15 Slot 13 Fiber 0 Asic 1 Channel 37

hCount 13 00 1 37
Entries 112
Mean 526.6
Std Dev 21.44
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 2 Pixel 16 Slot 13 Fiber 0 Asic 1 Channel 39

hCount 13 00 1 39
Entries 112
Mean 531.5
Std Dev 24.28
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 2 Pixel 17 Slot 13 Fiber 0 Asic 1 Channel 23

hCount 13 00 1 23
Entries 112
Mean 533.6
Std Dev 25.47
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 2 Pixel 18 Slot 13 Fiber 0 Asic 1 Channel 21

hCount 13 00 1 21
Entries 112
Mean 532
Std Dev 24.55
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 2 Pixel 19 Slot 13 Fiber 0 Asic 1 Channel 22

hCount 13 00 1 22
Entries 112
Mean 5355
Std Dev 26.58
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 2 Pixel 20 Slot 13 Fiber 0 Asic 1 Channel 20

hCount 13 00 _1 20

Entries
Mean

Std Dev
X2 / ndf

Prob
Constant
Mean

112

534

25.71
0.5125/22
1

1005 +6.4
511.2+46

Sigma 72.11+51.24

600

Threshold [DAC]




Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 2 Pixel 21 Slot 13 Fiber 0 Asic 1 Channel 40

hCount 13 00 1 40
Entries 112
Mean 533.6
Std Dev 25.45
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

|
500 600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 2 Pixel 22 Slot 13 Fiber 0 Asic 1 Channel 42

hCount 13 00 1 42
Entries 112
Mean 519.2
Std Dev 17.26
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 2 Pixel 23 Slot 13 Fiber 0 Asic 1 Channel 41

hCount 13 00 1 41
Entries 112
Mean 529.7
Std Dev 23.23
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 2 Pixel 24 Slot 13 Fiber 0 Asic 1 Channel 43

hCount 13 00 1 43
Entries 112
Mean 528.3
Std Dev 22.45
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 2 Pixel 25 Slot 13 Fiber 0 Asic 1 Channel 19

hCount 13 00 1 19
Entries 112
Mean 538.9
Std Dev 28.54
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 2 Pixel 26 Slot 13 Fiber 0 Asic 1 Channel 17

hCount 13 00 1 17
Entries 112
Mean 536.4
Std Dev 27.11
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 2 Pixel 27 Slot 13 Fiber 0 Asic 1 Channel 18

hCount 13 00 1 18

Entries
Mean

Std Dev
X2 / ndf

Prob
Constant
Mean

112

534

25.72
0.5125/22
1

1005 +6.4
511.2+46

Sigma 72.11+51.24

600

Threshold [DAC]




Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 2 Pixel 28 Slot 13 Fiber 0 Asic 1 Channel 16

hCount 13 00 1 16
Entries 112
Mean 5355
Std Dev 26.59
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

| |
500 600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 2 Pixel 29 Slot 13 Fiber 0 Asic 1 Channel 44

hCount 13 00 1 44
Entries 112
Mean 530.9
Std Dev 23.89
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 2 Pixel 30 Slot 13 Fiber 0 Asic 1 Channel 46

hCount 13 00 1 46

Entries
Mean

Std Dev
X2 / ndf

Prob
Constant
Mean

112

529

22.83
0.5125/22
1

1005 +6.4
511.2+46

Sigma 72.11+51.24

s T

500 600

Threshold [DAC]




Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 2 Pixel 31 Slot 13 Fiber 0 Asic 1 Channel 45

hCount 13 00 1 45

Entries
Mean

Std Dev
X2 / ndf

Prob
Constant
Mean

112

530

23.43
0.5125/22
1

1005 +6.4
511.2+46

Sigma 72.11+51.24

600

Threshold [DAC]




Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 2 Pixel 32 Slot 13 Fiber 0 Asic 1 Channel 47

hCount 13 00 1 47

Entries
Mean
Std Dev
X2 / ndf
Prob
Constant
Mean
Sigma

112

522.2

18.99
0.5125/22

1

1005 +6.4
511.2+46
72.11+51.24

| |
500 600
Threshold [DAC]




Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 2 Pixel 33 Slot 13 Fiber 0 Asic 1 Channel 15

hCount 13 00 1 15
Entries 112
Mean 539.5
Std Dev 28.88
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 2 Pixel 34 Slot 13 Fiber 0 Asic 1 Channel 13

hCount 13 00 1 13
Entries 112
Mean 539.5
Std Dev 28.84
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 2 Pixel 35 Slot 13 Fiber 0 Asic 1 Channel 14

hCount 13 00 1 14

Entries
Mean

Std Dev
X2 / ndf

Prob
Constant
Mean

112

537

27.44
0.5125/22
1

1005 +6.4
511.2+46

Sigma 72.11+51.24

600

Threshold [DAC]




Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 2 Pixel 36 Slot 13 Fiber 0 Asic 1 Channel 12

hCount 13 00 1 12

Entries
Mean
Std Dev
X2 / ndf
Prob
Constant
Mean
Sigma

112

528.6

22.59
0.5125/22

1

1005 +6.4
511.2+46
72.11+51.24

| |
500 600
Threshold [DAC]




Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 2 Pixel 37 Slot 13 Fiber 0 Asic 1 Channel 48

hCount 13 00 1 48
Entries 112
Mean 520.6
Std Dev 19.49
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

|
600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 2 Pixel 38 Slot 13 Fiber 0 Asic 1 Channel 50

hCount 13 00 1 50
Entries 112
Mean 529.1
Std Dev 22.87
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

|
500 600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 2 Pixel 39 Slot 13 Fiber 0 Asic 1 Channel 49

hCount 13 00 1 49
Entries 112
Mean 527.7
Std Dev 22.1
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 2 Pixel 40 Slot 13 Fiber 0 Asic 1 Channel 51

hCount 13 00 1 51
Entries 112
Mean 529
Std Dev 22.82
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

s T

500 600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 2 Pixel 41 Slot 13 Fiber 0 Asic 1 Channel 11

hCount 13 00 1 11
Entries 112
Mean 537.5
Std Dev 27.73
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 2 Pixel 42 Slot 13 Fiber 0 Asic 1 Channel 9

hCount 13 00 1 09
Entries 112
Mean 5355
Std Dev 26.58
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

N

500 600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 2 Pixel 43 Slot 13 Fiber 0 Asic 1 Channel 10

hCount 13 00 1 10
Entries 112
Mean 537.4
Std Dev 27.67
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 2 Pixel 44 Slot 13 Fiber 0 Asic 1 Channel 8

hCount 13 00 1 08

Entries
Mean

Std Dev
X2 / ndf

Prob
Constant
Mean

112

538

28.02
0.5125/22
1

1005 +6.4
511.2+46

Sigma 72.11+51.24

N I

500 600

Threshold [DAC]




Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 2 Pixel 45 Slot 13 Fiber 0 Asic 1 Channel 52

hCount 13 00 1 52
Entries 112
Mean 527.3
Std Dev 21.84
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 2 Pixel 46 Slot 13 Fiber 0 Asic 1 Channel 54

hCount 13 00 1 54
Entries 112
Mean 531
Std Dev 24
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 + 6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

I

500 600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 2 Pixel 47 Slot 13 Fiber 0 Asic 1 Channel 53

hCount 13 00 1 53
Entries 112
Mean 531.8
Std Dev 24.47
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 2 Pixel 48 Slot 13 Fiber 0 Asic 1 Channel 55

hCount 13 00 1 55
Entries 112
Mean 529.9
Std Dev 23.37
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 2 Pixel 49 Slot 13 Fiber 0 Asic 1 Channel 7

hCount 13 00 1 07
Entries 112
Mean 536.5
Std Dev 27.15
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 2 Pixel 50 Slot 13 Fiber 0 Asic 1 Channel 5

hCount 13 00 1 05

Entries
Mean

Std Dev
X2 / ndf

Prob
Constant
Mean

112

540

29.14
0.5125/22
1

1005 +6.4
511.2+46

Sigma 72.11+51.24

N

600

Threshold [DAC]




Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 2 Pixel 51 Slot 13 Fiber 0 Asic 1 Channel 6

hCount 13 00 1 06

Entries
Mean

Std Dev
X2 / ndf

Prob
Constant
Mean

112

538

28.01
0.5125/22
1

1005 +6.4
511.2+46

Sigma 72.11+51.24

600

Threshold [DAC]




Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 2 Pixel 52 Slot 13 Fiber 0 Asic 1 Channel 4

hCount 13 00 1 04
Entries 112
Mean 540.4
Std Dev 29.38
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

. I

500 600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 2 Pixel 53 Slot 13 Fiber 0 Asic 1 Channel 56

hCount 13 00 1 56
Entries 112
Mean 530.4
Std Dev 23.65
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

I T

500 600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 2 Pixel 54 Slot 13 Fiber 0 Asic 1 Channel 58

hCount 13 00 1 58
Entries 112
Mean 529.1
Std Dev 22.87
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

|
500 600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 2 Pixel 55 Slot 13 Fiber 0 Asic 1 Channel 57

hCount 13 00 1 57
Entries 112
Mean 532.6
Std Dev 24.88
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 2 Pixel 56 Slot 13 Fiber 0 Asic 1 Channel 59

hCount 13 00 1 59
Entries 112
Mean 520.4
Std Dev 17.93
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

500 600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 2 Pixel 57 Slot 13 Fiber 0 Asic 1 Channel 3

hCount 13 00 1 03
- Entries 112
B Mean 540
= Std Dev 29.17
= X2 / ndf 0.5125/ 22
— Prob 1
= Constant 1005 + 6.4
= Mean 511.2+£4.6
- Sigma 72.11+51.24

| | | | | | | | | | | | | |
200 300 400 500 600

Threshold [DAC]




Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 2 Pixel 58 Slot 13 Fiber 0 Asic 1 Channel 1

hCount 13 00 1 01
Entries 112
Mean 540.7
Std Dev 29.54
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

N I

500 600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 2 Pixel 59 Slot 13 Fiber 0 Asic 1 Channel 2

hCount 13 00 1 02

Entries
Mean

Std Dev
X2 / ndf

Prob
Constant
Mean

112

539

28.59
0.5125/22
1

1005 +6.4
511.2+46

Sigma 72.11+51.24

600

Threshold [DAC]




Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 2 Pixel 60 Slot 13 Fiber 0 Asic 1 Channel 0

hCount 13 00 1 00
Entries 112
Mean 539.5
Std Dev 28.88
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

N I

500 600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 2 Pixel 61 Slot 13 Fiber 0 Asic 1 Channel 60

hCount 13 00 1 60
Entries 112
Mean 527.4
Std Dev 21.93
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 2 Pixel 62 Slot 13 Fiber 0 Asic 1 Channel 62

hCount 13 00 1 62
Entries 112
Mean 533.6
Std Dev 25.47
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 2 Pixel 63 Slot 13 Fiber 0 Asic 1 Channel 61

hCount 13 00 1 61
Entries 112
Mean 531.5
Std Dev 24.28
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 2 Pixel 64 Slot 13 Fiber 0 Asic 1 Channel 63

hCount 13 00 1 63
Entries 112
Mean 519.3
Std Dev 17.31
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 3 Pixel 1 Slot 13 Fiber 0 Asic 2 Channel 31

hCount 13 00 2 31
Entries 112
Mean 533.9
Std Dev 25.62
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

|
500 600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 3 Pixel 2 Slot 13 Fiber 0 Asic 2 Channel 29

hCount 13 00 2 29

— Entries 112
B Mean 532.6
= Std Dev 24.87
= X2 I ndf 3574/ 22
— Prob 0
= Constant 1273 +14.4
= Mean 567 + 0.1
- Sigma 3.236 £0.028
L Im
| | | | | | | | | | |
200 300 400 500 600

Threshold [DAC]




Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 3 Pixel 3 Slot 13 Fiber 0 Asic 2 Channel 30

hCount 13 00 2 30
Entries 112
Mean 541.8
Std Dev 30.18
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

N

600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 3 Pixel 4 Slot 13 Fiber 0 Asic 2 Channel 28

hCount 13 00 2 28
Entries 112
Mean 532.4
Std Dev 24.59
X2/ ndf 5132/ 22
Prob 0
Constant 1383 +14.8
Mean 564.5+0.1
Sigma 3.604 +0.030

I

600

Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 3 Pixel 5 Slot 13 Fiber 0 Asic 2 Channel 32

hCount 13 00 2 32
Entries 112
Mean 539.7
Std Dev 28.97
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

N

600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 3 Pixel 6 Slot 13 Fiber 0 Asic 2 Channel 34

hCount 13 00 2 34
Entries 112
Mean 534.9
Std Dev 26.22
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

|
500 600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 3 Pixel 7 Slot 13 Fiber 0 Asic 2 Channel 33

hCount 13 00 2 33
Entries 112
Mean 542.1
Std Dev 30.36
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

500 600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10?

10

Row 1 Tile 1 Pmt 3 Pixel 8 Slot 13 Fiber 0 Asic 2 Channel 35

hCount 13 00 2 35
Entries 112
Mean 545
Std Dev 32.03
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

| |
600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 3 Pixel 9 Slot 13 Fiber 0 Asic 2 Channel 27

hCount 13 00 2 27
Entries 112
Mean 538.1
Std Dev 28.08
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

i

600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 3 Pixel 10 Slot 13 Fiber 0 Asic 2 Channel 25

hCount 13 00 2 25
Entries 112
Mean 541.5
Std Dev 30
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

L

600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10?

10

Row 1 Tile 1 Pmt 3 Pixel 11 Slot 13 Fiber 0 Asic 2 Channel 26

e

hCount 13 00 2 26

Entries 112
Mean 537.1
Std Dev 27.29
X2 / ndf 132.8/22
Prob 7.908e-18
Constant 1089 +10.1
Mean 567.4 £ 0.5
Sigma 24.11+1.97

—

600

Threshold [DAC]




Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 3 Pixel 12 Slot 13 Fiber 0 Asic 2 Channel 24

hCount 13 00 2 24
Entries 112
Mean 541.2
Std Dev 29.83
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

N

600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 3 Pixel 13 Slot 13 Fiber 0 Asic 2 Channel 36

hCount 13 00 2 36

Entries
Mean

Std Dev
X2 / ndf

Prob
Constant
Mean

112

540

29.16
0.5125/22
1

1005 +6.4
511.2+46

Sigma 72.11+51.24

N B

500 600

Threshold [DAC]




Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 3 Pixel 14 Slot 13 Fiber 0 Asic 2 Channel 38

hCount 13 00 2 38
Entries 112
Mean 543.8
Std Dev 31.35
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

| |
600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 3 Pixel 15 Slot 13 Fiber 0 Asic 2 Channel 37

hCount 13 00 2 37
Entries 112
Mean 541.2
Std Dev 29.86
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

N

600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 3 Pixel 16 Slot 13 Fiber 0 Asic 2 Channel 39

hCount 13 00 2 39
Entries 112
Mean 531.9
Std Dev 24.81
X2/ ndf 3511/22
Prob 0
Constant 1275 +13.4
Mean 563.6 £ 0.1
Sigma 3.648 +0.029

| | _1 | |

600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 3 Pixel 17 Slot 13 Fiber 0 Asic 2 Channel 23

hCount 13 00 2 23
Entries 112
Mean 542.9
Std Dev 30.83
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

b

|
600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 3 Pixel 18 Slot 13 Fiber 0 Asic 2 Channel 21

hCount 13 00 2 21
Entries 112
Mean 543.2
Std Dev 28.47
X2/ ndf 1064 / 22
Prob 0
Constant 1578 +12.2
Mean 566.4 £ 0.2
Sigma 13.98 £ 0.39

.

600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 3 Pixel 19 Slot 13 Fiber 0 Asic 2 Channel 22

hCount 13 00 2 22
— Entries 112
— Mean 545
= Std Dev 32.04
= X2 / ndf 0.5125/ 22
— Prob 1
L Constant 1005 +6.4
= Mean 511.2+£4.6
— Sigma 72.11+51.24

| | | | | | | | | | | |
200 300 400 500 600

Threshold [DAC]




Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 3 Pixel 20 Slot 13 Fiber 0 Asic 2 Channel 20

hCount 13 00 2 20
Entries 112
Mean 544.4
Std Dev 31.71
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

| |
600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 3 Pixel 21 Slot 13 Fiber 0 Asic 2 Channel 40

hCount 13 00 2 40
Entries 112
Mean 540.3
Std Dev 29.35
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

N

600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 3 Pixel 22 Slot 13 Fiber 0 Asic 2 Channel 42

hCount 13 00 2 42

Entries 112
Mean 540.2
Std Dev 29.29
X2/ ndf 3799/ 20
Prob 0
Constant 1273 +14.1
Mean 582.1+£0.1

Sigma 3.309 + 0.028

L

600

Threshold [DAC]




Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 3 Pixel 23 Slot 13 Fiber 0 Asic 2 Channel 41

hCount 13 00 2 41
Entries 112
Mean 545
Std Dev 32.04
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

| |
600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 3 Pixel 24 Slot 13 Fiber 0 Asic 2 Channel 43

hCount 13 00 2 43
Entries 112
Mean 540.1
Std Dev 29.24
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

N

600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 3 Pixel 25 Slot 13 Fiber 0 Asic 2 Channel 19

hCount 13 00 2 19
- Entries 112
B Mean 545
= Std Dev 32.04
= X2 / ndf 0.5125/ 22
— Prob 1
= Constant 1005 + 6.4
= Mean 511.2+£4.6
- Sigma 72.11+51.24

| | | | | | | | | | | |
200 300 400 500 600

Threshold [DAC]




Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 3 Pixel 26 Slot 13 Fiber 0 Asic 2 Channel 17

hCount 13 00 2 17
— Entries 112
— Mean 545
= Std Dev 32.04
= X2 / ndf 0.5125/ 22
— Prob 1
L Constant 1005 +6.4
= Mean 511.2+£4.6
— Sigma 72.11+51.24

| | | | | | | | | | | |
200 300 400 500 600

Threshold [DAC]




Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 3 Pixel 27 Slot 13 Fiber 0 Asic 2 Channel 18

hCount 13 00 2 18
Entries 112
Mean 543.8
Std Dev 31.32
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

| |
600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 3 Pixel 28 Slot 13 Fiber 0 Asic 2 Channel 16

hCount 13 00 2 16

Entries 112
Mean 541.8
Std Dev 28.37
X2/ ndf 853.9/22
Prob 0
Constant 1891+ 14.8
Mean 567 £0.1

Sigma 8.823 + 0.100

i

600

Threshold [DAC]




Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 3 Pixel 29 Slot 13 Fiber 0 Asic 2 Channel 44

hCount 13 00 2 44
Entries 112
Mean 537.3
Std Dev 27.24
X2/ ndf 2562 /22
Prob 0
Constant 1479 +12.8
Mean 568.3 £ 0.1
Sigma 6.684 + 0.061

| | _1 | |

600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 3 Pixel 30 Slot 13 Fiber 0 Asic 2 Channel 46

hCount 13 00 2 46
Entries 112
Mean 540.3
Std Dev 29.35
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

N B

500 600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 3 Pixel 31 Slot 13 Fiber 0 Asic 2 Channel 45

hCount 13 00 2 45
Entries 112
Mean 540.2
Std Dev 29.26
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

N

600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 3 Pixel 32 Slot 13 Fiber 0 Asic 2 Channel 47

hCount 13 00 2 47

Entries
Mean

Std Dev
X2 / ndf

Prob
Constant
Mean

112

542

30.28
0.5125/22
1

1005 +6.4
511.2+46

Sigma 72.11+51.24

L

600

Threshold [DAC]




Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 3 Pixel 33 Slot 13 Fiber 0 Asic 2 Channel 15

hCount 13 00 2 15
Entries 112
Mean 544.4
Std Dev 31.7
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

| |
600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 3 Pixel 34 Slot 13 Fiber 0 Asic 2 Channel 13

hCount 13 00 2 13

— Entries 112
B Mean 545.1
= Std Dev 30.99
= X2/ ndf 796.1/22
— Prob 0
= Constant 1601+ 13.5
= Mean 547.4 £0.1
- Sigma 10.42 £ 0.17
= f\\
| | | | | | | | | | | | |
200 300 400 500 600

Threshold [DAC]




Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 3 Pixel 35 Slot 13 Fiber 0 Asic 2 Channel 14

hCount 13 00 2 14
Entries 112
Mean 544.4
Std Dev 31.68
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

| |
600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 3 Pixel 36 Slot 13 Fiber 0 Asic 2 Channel 12

hCount 13 00 2 12
— Entries 112
— Mean 545
= Std Dev 32.04
= X2 / ndf 0.5125/ 22
— Prob 1
L Constant 1005 +6.4
= Mean 511.2+£4.6
— Sigma 72.11+51.24

| | | | | | | | | | | |
200 300 400 500 600

Threshold [DAC]




Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 3 Pixel 37 Slot 13 Fiber 0 Asic 2 Channel 48

hCount 13 00 2 48
Entries 112
Mean 539.1
Std Dev 28.6
X2/ ndf 2954 /22
Prob 0
Constant 1299 +12.4
Mean 578.9+0.1
Sigma 4.364 + 0.032

|
600

Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 3 Pixel 38 Slot 13 Fiber 0 Asic 2 Channel 50

hCount 13 00 2 50
Entries 112
Mean 539.8
Std Dev 29.05
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

L

600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 3 Pixel 39 Slot 13 Fiber 0 Asic 2 Channel 49

hCount 13 00 2 49
Entries 112
Mean 539.5
Std Dev 28.89
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

500 600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 3 Pixel 40 Slot 13 Fiber 0 Asic 2 Channel 51

hCount_13_00_2_51

Entries 112
Mean 538.5
Std Dev 28.2
X2/ ndf 3158/ 22
Prob 0
Constant 1357 +11.4
Mean 5749 +£0.1

Sigma 5.674 + 0.037

|
600

Threshold [DAC]




Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 3 Pixel 41 Slot 13 Fiber 0 Asic 2 Channel 11

hCount 13 00 2 11
Entries 112
Mean 544
Std Dev 31.48
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 + 6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

| |
500 600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10?

10

Row 1 Tile 1 Pmt 3 Pixel 42 Slot 13 Fiber 0 Asic 2 Channel 9

hCount 13 00 2 09
Entries 112
Mean 545
Std Dev 32.04
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

| |
600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 3 Pixel 43 Slot 13 Fiber 0 Asic 2 Channel 10

hCount 13 00 2 10
- Entries 112
B Mean 545
= Std Dev 32.04
= X2 / ndf 0.5125/ 22
— Prob 1
= Constant 1005 + 6.4
= Mean 511.2+£4.6
- Sigma 72.11+51.24

| | | | | | | | | | | |
200 300 400 500 600

Threshold [DAC]




Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 3 Pixel 44 Slot 13 Fiber 0 Asic 2 Channel 8

hCount 13 00 2 08
Entries 112
Mean 545
Std Dev 32.04
X2 / ndf 0.496 / 22
Prob 1
Constant 1005 +6.4
Mean 573+4.6
Sigma 72.11+51.43

| |
600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 3 Pixel 45 Slot 13 Fiber 0 Asic 2 Channel 52

hCount 13 00 2 52
Entries 112
Mean 542.2
Std Dev 30.4
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

|,

|
600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 3 Pixel 46 Slot 13 Fiber 0 Asic 2 Channel 54

hCount 13 00 2 54
Entries 112
Mean 538.3
Std Dev 28.18
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24

L

600
Threshold [DAC]



Count Rate [cps]

107

10°

10°

10*

10°

10?

10

Row 1 Tile 1 Pmt 3 Pixel 47 Slot 13 Fiber 0 Asic 2 Channel 53

hCount 13 00 2 53
Entries 112
Mean 541.9
Std Dev 30.27
X2 / ndf 0.5125/ 22
Prob 1
Constant 1005 +6.4
Mean 511.2+£4.6
Sigma 72.11+51.24
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